E¥REgHERY ¥

T % R,

REEF-F - A-Z PSRBT HEIAINT - B)

4
F_&
il
|
=0
o
4
=
¢
F\
=K

. fakd $EF 80

R4 mEt AT B PFF > AT 108 Eors R £ 3

BEIRELS G XL T 4T
AX+2x(4T—x)=108

2. 1B I I pa3 i} BT 125 2§ 0

SUBWEL2H Rk  GR BB FEREL 5 PRY
fREBEREFAEY S XA BT L (x5~
3x(3x+5) +2x=125

3. HMAM L 124 T2 24 thz 4755 ¢ arz £ 5 10 24

FREZ AR BAN?

fRE B Z KL X A

xx10+2=124



4, PP FIL AR L0 AR A EF e 310 2k ?\;%‘FFB

I

fEE B S xam o LB S (x50 e s
x+(x—50)=310
5. EHAE L 450 2 s enk 3 A5 ¢ vk 3 AR L 8 A o
Be bk o Rl E 3SR LY
fRE B L DB 5 X ok

8xHxx=45(

X+ (X+T7)=30
T, JFRGEAELABE > BFRERIFT 93T o v 4478
o098 §0 3FBERSfrDe g 3D AT AHE - K &
356 7~ o R - FUERET R 50 AT
[ER S L AN B

IX0. 9x+5x0. 8x35=356



8. 1&g 2wmiEmip I ]l g2 BE S R L =200 ~§

T2geEE b fAGC N 2B AEcE R LS S ORY
A% ERAITNE Y L X~ Bl L g E (x+H2) R
2x(2Xx+2) +5x=200

9. 1H¥PFE I HERLR D~ I RWEFEAREF DR RE

TR o R A AR RE S ST
RE EXPFERLIX A PEFRRELG—X~
3X=4x(35—x)

10 Piccha g d e - TR 2 an &L 6] FH S

g E s

;é{a‘?

ETIRS

R BRI A hE L xR RN RO - D) K

x+(§x— 9)=61



